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BOARD QUESTION PAPER: MARCH 2022

ENGLISH KUMARBHARATI

Time: 3 Hours

Total Marks: 80

Q.1

Q.2

( Section I: Language Study >

(A)
(Al) Do as Directed (any four):

i Punctuate the following:
you have never heard of bach he asked.

ii. Find out 4 hidden words having at least four letters from the given word:
‘Proclamation’

iii.  Spot the error and rewrite the correct sentence:
All the great religions teaches us to care for our children.

iv.  Arrange the following words in the alphabetical order:
invention, indisputable, interactions, inquisitive.

v.  Complete the word chain of verbs:

Ca”, ] i 1

(A2) Do as Directed (any two):

i Prepare the word register of four words related to the given word:
MUSIC

ii.  Dr.Kalam’s own life was nourished by multiple faiths.
(Begin the sentence with ‘Multiple faiths ")

iii.  Rewrite the sentence by using ‘No sooner than’:
As soon as we went to a rocky beach, we saw the spread of the majestic ocean.

(B) Do as Directed (any one):

i Pick out the modal auxiliary and state its function:
Could I use your computer for surfing net?

ii. Name and identify the subordinate clause:
When we were designing the first Macintosh Computer, it all came back to me.

Section I1: Textual Passages
(Reading Skills, Vocabulary and Grammar)

(A) Read the following passage and do the activities:

(Al) Complete the given boxes with who said to whom:

[04 Marks]
)

@)
)
@)
@)

[04 Marks]
)

)
)

[02 Marks]
)

)

[10 Marks]
)

Statement Who To whom

Q) You look a bit of a
wrestler yourself.

(i) If you can cook, then may
be I can feed you.

fairly successful hand.

confidence.

I was still a thief when | met Anil. And though only 15, | was an experienced and

Anil was watching a wrestling match when | approached him. He was about 25 — a tall,
lean fellow — and he looked easy-going, kind and simple enough for my purpose, |
hadn’t had much luck of late and thought I might be able to get into the young man’s
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(A2) Complete the cluster diagram mentioning the characteristics of the main character of

(A3)
.

(A5)
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“You look a bit of a wrestler yourself,” I said. A little flattery helps in making
friends.

“So do you,” he replied, which put me off for a moment because at that time | was
rather thin.

“Well,” I said modestly, “I do wrestle a bit.”

“What’s your name?”

“Hari Singh,” T lied. T took a new name every month. That kept me ahead of the
police and my former employers.

After this introduction, Anil talked about the well-oiled wrestlers who were
grunting, lifting and throwing each other about. I didn’t have much to say. Anil walked
away. | followed casually.

“Hello again,” he said.

I gave him my most appealing smile. “I want to work for you,” I said.

“But I can’s pay you.”

I thought that over for a minute. Perhaps | had misjudged my man.

I asked, “Can you feed me?”

“Can you cook?”

“I can cook,” | lied again.

“If you can cook, then may be I can feed you.”

the passage:

Physical
appearance

Choose the correct meanings of the following words from the given options:
Flattery:

a. insincere praise

b. appreciation

C. creating false impression

d. unfaithful behaviour

Appealing:

a. good conduct
b.  attractive

C. charming

d. beautiful

Do as Directed:
| took a new name every month.
(Frame ‘Wh’ question to get the underlined part as an answer.)

I was an experienced hand.
(Underline the determiners from the given sentence. )

Why do you think Hari Singh gave his most appealing smile?
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(B) Read the following passage and complete the activities: [10 Marks]
(B1) Complete the given sentences by choosing the correct option: 2
i. The on monuments and sites initiated a draft convention to create an international
organisation responsible for protecting cultural heritage.
a. International Peace Committee b. International Council
C. International Health Committee d. World Heritage List
ii.  The famous dam situated in Egypt on River Nile is .
a. Buzwaa High Dam b. Rizwa High Dam
C. Aswan High Dam d. Kalwa High Dam
iii.  The idea of protecting cultural and natural heritage sites around the world began in the early
century.
a. twentieth b. nineteenth
C. eighteenth d. fifteenth
iv.  The project cost an estimated US $80 million, $40 million of which came from
different countries.
a. 35 b. 55
C. 25 d. 50

Although the idea of protecting cultural and natural heritage sites around the world
began in the early twentieth century, momentum for its actual creation was not until the
1950s. In 1954, Egypt started plans to build the Aswan High Dam to collect and control
water from the Nile River. The initial plan for the dam’s construction would have flooded
the valley containing the Abu Simbel Temples and scores of ancient Egyptian artefacts. To
protect the temples and artefacts, UNESCO launched an international campaign in 1959
that called for the dismantling and movement of the temples to higher ground. The project
cost an estimated US $80 million, $40 million of which came from 50 different countries.
Because of the project’s success. UNESCO and the International Council on Monuments
and sites initiated a draft convention to create an international organization responsible for
protecting cultural heritage.

Shortly thereafter in 1965, a White House Conference in the United States called
for a “World Heritage Trust” to protect historic and cultural sites but to also protect the
world’s significant natural and scenic sites. Finally, in 1968, the International Union for
Conservation of Nature developed similar goals and presented them at the United
Nations Conference on Human Environment in Stockholm, Sweden in 1972. Following
the presentation of these goals, the Convention concerning the Protection of World
Cultural and Natural Heritage was adopted by UNESCO’s General Conference on
November 16, 1972.

(B2) Complete the following information from the passage: 2
Tasks Reasons
i UNESCO launched an international
campaign in 1959.
ii. A White House Conference in the

United States called for a ‘World

Heritage Trust’.

(B3) Pick out and write any four adjectives from the passage: 2
i.

ii.

iii.

iv.
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(B4) Do as Directed: 2
i UNESCO and International Council on Monuments initiated a draft convention to create an
international organisation responsible for protecting cultural heritage.
(Use ‘not only but also’ in the above sentence.)

ii. In 1968, the International Union for conservation of nature developed similar goals and
presented them at the United Nations Conference on Human Environment in Stockholm,
Sweden in 1972.

(Identify whether the above sentence is simple, compound or complex.)

(B5) What measures will you adopt for the preservation of any historical site? 2
< Section I11: Poetry >

(A) Read the following extract and do the given activities: [05 Marks]

(Al) State whether the following statements are true or false: 2

i Animals show their relations to us.

ii. Humans have given up many good qualities.

iii.  Animals sweat and whine about their condition.
iv.  Animals are placid and self-contained.

I think I could turn and live with animals, they are
so placid and self-contain’d
I stand and look at them long and long.
They do not sweat and whine about their condition,
They do not lie awake in the dark and weep for their sins,
They do not make me sick discussing their duty to God,
Not one is dissatisfied, not one is demented with
the mania of owning things.
Not one kneels to another, nor to his kind that
lived thousands of years ago,
Not one is respectable or unhappy over the whole earth,
So they show their relations to me and | accept them,
They bring me tokens of myself, they evince
them plainly in their possession
I wonder where they get those tokens,
Did I pass that way huge times ago and negligently drop them?

(A2) Answer the following question with the help of the given extract: 2
i What craze do animals never display? Why?

(A3) Pick out one example of Rhetorical question from the extract. @

(B) Read the following poem and write an appreciation of it with the help of the given
points in a paragraph format: [05 Marks]

Night of the Scorpion

I remember the night my mother
was stung by a scorpion. Ten hours
of steady rain had driven him

to crawl beneath a sack of rice.

Parting with his poison — flash
of diabolic tail in the dark room —
he risked the rain again
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The peasants came like swarms of flies
And buzzed the name of God a hundred times
to paralyse the Evil One.

With candles and with lanterns

throwing giant scorpion shadows

on the mud-baked walls

they searched for him : he was not found.

They clicked their tongues.

With every movement that the scorpion made his poison
moved in Mother’s blood, they said.

May he sit still, they said

May the sins of your previous birth

be turned away tonight, they said.

May your suffering decrease

the misfortunes of your next birth, they said.
May the sum of all evil

balanced in this unreal world

against the sum of good

become diminished by your pain.

May the poison purify your flesh

of desire, and your spirit of ambition,
they said, and they sat around

on the floor with my mother in the centre,
the peace of understanding on each face.

More candles, more lanterns, more neighbours,
more insects, and the endless rain.

My mother twisted through and through,
groaning on a mat.

My father, sceptic, rationalist,

trying every curse and blessing,

powder, mixture, herb and hybrid.

He even poured a little paraffin

upon the bitten toe and put a match to it.

| watched the flame feeding on my mother.

I watched the holy man perform his rited to tame the
poison with an incantation.

After twenty hours

it lost its sting.

My mother only said
Thank God the scorpion picked on me
And spared my children

- Nissim Ezekiel

Points:

The title and the poet of the poem
Rhyme scheme

Figures of speech

Central Idea/Theme
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(Section 1V: Non-Textual Passage)
(Reading Skills, Vocabulary, Grammar and Summary)

Q.4 (A) Read the following passage and complete the activities: [10 Marks]
(Al) Complete the chart on the life stages of fireflies: 2
Life stages
of
fireflies

/
\

Fireflies are beetles and go through several life stages, starting out as an egg, then
hatching into larvae. At the juvenile stage, they turn into pupae and then, finally adults.
Fireflies spend most of their lives in a larval stage, hidden away. There are 2000 different
species of fireflies. But they all go through a long juvenile stage and a short adult life, which
is mainly about courtship, mating and reproduction. The juveniles living underground or
underwater, are very different though-they’re hunters, they eat snails and soft-bodied insects
and they have very different habitates.

Conserving them is essential for human life as fireflies are a key part of the food web.
They are predators of agricultural pests. In turn, they are prey for spider and other insects.
They are completely enmeshed in the web of life. In addition, about 70 years ago, scientists
unravelled the mystery of fireflies’ light-producing talents. Since then, the bio-chemical
reactions that fireflies experience have been used in detecting bacterial contamination in
foods, testing drugs against cancer, developing drought-resistant crops. They have been used
in space exploration! So fireflies give us beauty and inventions. Fireflies carry oxygen,
calcium, magnesium and a natural chemical called luciferin. These react together to produce
the photons. This is how the fireflies glow.

Firefly tourism is growing across the world. In Maharashtra, for example, a particular
species monsoon fireflies, emerge before the rains. They’re beautiful and a festival is held in
Purushwadi, encouraging firefly tourism. Its wonderful that people around the world go to see
fireflies in their natural habitat. We need to be cautious. Too many people can disturb adult
and larval habitats. Fireflies need darkness to communicate with each other and we need
fireflies because they are harbingers of hope.

(A2) Write two reasons for the conservation of fireflies. 2
(A3) Make antonyms of the following words using prefix: 2
i. different x

ii.  experience x

iii.  bacterial x

iv.  natural x

(A4) Do as Directed: 2
i Too many people can disturb adult and larval habitat. (Rewrite using ‘as well as’)

ii.  These react together to produce photons.  (Pick out the infinitive from the given sentence)

(A5) Can you think of any other insect that teaches us some values of life? Explain with
examples. 2
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(B) Summary Writing [05 Marks]

Read the above passage given in Q. No. 4(A) and write a summary of it in a paragraph.
Suggest a suitable title.

( Section V: Writing Skills >

Q.5 Letter writing: [05 Marks]
(A) Imagine you are Manav/Mira Sharma residing at B/12 ‘Snehkutir’, M. G. Road, Nashik —
422003.

Read the given news extract:

CELEBRATING THE GIRL CHILD
— by a Staff Reporter
12th Oct, Nashik:
Yesterday, the city celebrated International Girl Child Day. Various programmes were
organized across the city to felicitate girls who are young achievers. Speaking on the occasion
the Governer said that as a nation we should educate and empower the girl child...............

Al. Formal Letter A2. Informal Letter

Write a letter to the Chairman, Rotary Write a letter to your friend to state the
Club, D. C. Road, Nashik - 422003 to |OR| importance of women in our society.
arrange an event to felicitate young girl
achievers of the city.

Q.6 (A) Information Transfer [05 Marks]
S

(Al) Verbal to Non-Verbal:
Read the following information and complete the table given below. Give a suitable title:

Turtles and tortoises are closely related. They are both reptiles from the same family
(Testudines or Chelonian). The main difference between the two is that turtle is the name
given to water-dwellers and tortoise is the name given to land-dwellers. They are easily
identified by the presence of a shell, from which their head and limbs protrude.

Turtles are found in Africa and America. Its shell is lighter and more streamlined than
that of a tortoise. To enable swimming, it has webbed feet with long claws. Turtles are
omnivores, eating both vegetation and meat. Their lifespan is shorter than that of the tortoise
with an average of 20-40 years and a maximum of 86 years.

Tortoises are found mainly in Asia and Africa, but also in America. It has a rounder,
bumpier, heavier shell than a turtle. Its bent legs are short and sturdy. Tortoises are usually
herbivores, but some eat meat, their lifespan is longer than that of the turtle with an average
of 80-150 years and a maximum of 188 years.

FEATURES TURTLES TORTOISE
i. | HABITAT

ii. | PLACES FOUND IN
iii. | SHELL

iv. | LIFESPAN
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(A2)

(B)
(B1)

(B2)

(A)
(A1)

(A2)

(B)
(B1)

(B2)
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OR

Non-verbal to Verbal: [05 Marks]
Transfer the information into a paragraph:
Observe the chart and write a paragraph on it. Suggest a suitable title:

Problems faced by teenagers

}

Stress and depression

A 4

Bullying/ child abuse

Eating disorder

Smoking and drinking

Body image and self-esteem

Peer pressure and competition

Prepare a speech to be delivered in your school assembly on the topic: [05 Marks]
“Giving is Receiving”.

Use the following points:

° makes us feel happy e  promotes co-operation and social connection

° develops feeling of contentment e  develops feeling of empathy

OR

Write your counterview in a paragraph on the topic ‘Short cuts to success is not a
wrong choice’:

Use the following points:

° Followed by people with wrong principles. e Quality of work will suffer.

° The result will not last long. ° Limitations to creative thinking.

(Section VI: Creative Writing>

Do any one of the following: [05 Marks]

Expand the theme:
Expand the following idea into 100 words:
“The time to be happy is now”.

OR
News Report:
Prepare a news report based on the following:
“Government encourage classrooms to go digital”

Developing a story/Narrating experience: [05 Marks]

Develop a story in about 80-100 words with the following beginning.
Give a suitable title:
Raj was thrilled to get a VIP pass for the concert of his favourite singer ..........

OR

Narrate an experience in about 80-100 words with the following ending.
Give a suitable title:
.......... and hence I decided never to leave my home without a mask.
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BOARD QUESTION PAPER: MARCH 2022

Science and Technology Part - 1

Time: 2 Hours Max Marks: 40
Q.1. (A) Choose the correct Alternative: [5]
1. Gold plated ornaments is the example of .
(A) Electroplating (B) Alloying
(C) Anodizing (D) Galvanizing
ii.  The functioning of the satellite launch vehicle is based on
(A) Newton’s first law of motion (B) Newton’s second law of motion
(C) Newton’s third law of motion (D) Newton’s universal law of gravitation

iii.

iv.

(B)

ii.

iii.

iv.

is one of the combustible components of L.P.G.

(A) Ethane (B) Propane
(C) Methane (D) Ethene
The power of a convex lens of focal length 25 cm is .
(A) 40D (B) 025D (C) 40D (D) 04D
colour is deviated the least, in the spectrum of white light obtained with a glass prism.
(A) Red (B) Yellow (C) Violet (D) Blue
Answer the following: [5]

Find the odd one out:
INSAT, GSAT, IRS, PSLV

Complete the correlation:
Group 1 : Alkali metals : : : Halogens.

Match the correct pair:

Column ‘A’ Column ‘B’
Refractive index of water (a) 1.31
(b) 1.36
(c) 1.33

State True or False:
An electric motor converts mechanical energy into electrical energy.

Write the IUPAC name for the following structural formula:
CH; - CH - CH;

|
OH
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(A) Give scientific reasons (any two):

1. Atomic radius goes an increasing down a group.

ii. Simple microscope is used for watch repairs.

iii. It is recommended to use airtight container for storing oil for long time.

(B) Answer the following questions (any three):

1. An object takes 5 s to reach the ground from a height of 5 m on a planet. What is the value of

‘g’ on the planet?
ii.  Draw a neat labelled diagram of Hope’s Apparatus.
iii.  State the Laws of Refraction.
iv.  Answer the following:
(a) Name the main ore of aluminium.
(b)  What impurities are present in aluminium ore?
V. Observe the given figure of Fleming’s Left Hand Rule and write the labels of ‘A’ and ‘B’:

Force of the conductor

Answer the following (any five):

i Write the demerits of Mendeleev’s periodic table.
il State the laws related to the given diagram:
p_C

EF ‘ A

lanet

iii.  Identify the type of chemical reaction given below:
(@) CuSO4+Fe —— FeSO,4+ Cu
(b) 2Mg+ 0O, —— 2MgO
(¢c) 2KClO; —— 2KCl+30, T

iv.  If the speed of light in a medium is 1.5 x 10® m/s, what is the absolute refractive index of the
medium?  (Speed of light in vacuum = 3 x 10® m/s).

v.  Read the following paragraph and answer the questions based on it:

If heat is exchanged between a hot and cold object, the temperature of the cold object
goes on increasing due to gain of energy and the temperature of the hot object goes on
decreasing due to loss of energy.

The change in temperature continues till the temperatures of both the objects attain the
same value. In this process, the cold object gains heat energy and the hot object loses heat
energy. If the system of both the objects is isolated from the environment by keeping it
inside a heat resistant box, then no energy can flow from inside the box or come into the
box.

(a) Heat is transferred from where to where?
(b)  Which principle do we learn about from this process?
(¢) How will you state the principle briefly?
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Complete the following table for convex lens:

I Position of the object Position of the image Nat}lre of the
No. image

L. Beyond 2F,

2. At infinity

3. Real, inverted

and enlarged

Explain the following terms:

(a) Metallurgy
(b) Ores
(c) Gangue.

State the importance of Space Mission.

Q.4. Answer any one of the following questions:
Observe the following diagram and answer the questions given below:

i

il.

— Magnetic field
—_—

N |B_ Coil C S

Carbon

Conducting brushes

ring

Identify the above diagram.

Write the working of the above appliance.
Write the use of the above appliance.

/o o

®

|
(D) H—|C—C—H (2)
|

b. Draw electron dot structure for (1) and (2).
c. Define Homologous series.

www.saiphy.com

Write the principle on which the above appliance works.

Identify saturated and unsaturated hydrocarbon from the given structural formula:
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BOARD QUESTION PAPER: MARCH 2022

Science and Technology Part - 2

Time: 2 Hours

Q..

(A) Write the correct alternative:

1.
ii.
iil.

iv.

(B)
1.
ii.
iil.

1v.

Bones contain amino acids.

(A) Melanin (B) Haemoglobin
(C) Ossein (D) Insulin

Giant squirrel is an example of threatened species.

(A) Endangered (B) Rare

(C) Vulnerable (D) Indeterminate
Human being belongs to class.

(A) Mammalia (B) Amphibia
(C) Reptilia (D) Cyclostomata
Organs like can be donated after death.

(A) Skin (B) Heart

(C) Lungs (D) Bones
Volcano is a disaster.

(A) Social (B) Political

(C) Biological (D) Geological

Answer the following:
Find the odd one out:
Earthquake, Flooding, Tsunami, War

State true or false:
Oxidation of proteins is carried out in aerobic respiration.

Complete the correlation:
Western ghat : Asiatic lion : : Sunderban sanctuary :

Which type of fuel is used in thermal power plant?

Identify the picture and name it.
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(A)

ii.
iii.

(B)

ii.
iii.
iv.
v.
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Give scientific reasons (any two):

Cell division is one of the important properties of cell and organisms.
Cockroach belongs to phylum Arthropoda.

Power generation plant based on natural gas is eco-friendly.

Answer the following (any three):
Complete the following diagram:

Morphological
Evidences of
Evolution
o
Similarities 3
in bone
structure

What do we learn from the story of Jadav Molai Payeng?

Distinguish between sexual reproduction and asexual reproduction. (two points)
Define genetically modified crops and give any two examples.

What are vitamins? Write two types of vitamins.

Answer the following (any five):

1.

ii.
1.

1v.

Vi.

Explain the meanings of the following symbols:

(1) (2)

s CI0

Write any three characteristics of class reptilia.

)

(1)  Which substance is used to produce cheese?

(2)  Which enzyme was used earlier for cheese production?
(3)  Which enzyme is used to produce vegetarian cheese?
(1)  Which process is shown in the given diagram?

(2) What is the importance of this process?

(3) Which organs can be transplanted by this process?

J
J

N\ # 9

W o @

e

What is meant by disaster? Write any two examples of each natural and man-made disaster.

Write the objections raised against Darwin’s theory of natural selection.
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Vii.

Biomass a
Solar energy + CO,

Conversion
of cellulose
to glucose .

Liquid fuel
production
through
fermentation

(1)  Which process is shown in the above given picture?

(2) Give two examples for liquid fuels and solid fuels obtained by this process.

vi. (1) Complete the stages in electric generator using wind energy.

(2)  Write limitations in an electric generator using wind energy.

Q.4. Answer any one of the following: [5]
1. a. Sketch and label the essential and accessory whorls of flower.
b. What is pollination?

c. Give any two examples of agents of pollination.

ii.  What will you do?
(1)  You are spending more time on internet.
(2)  Child of your neighbour is addicted to tobacco chewing.
(3)  Your sister has become incommunicative.
(4)  You have to use free space around your home for good purpose.
(5)  Your brother studying in XII has developed the stress.
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BOARD QUESTION PAPER: MARCH 2022
HISTORY AND POLITICAL SCIENCE

Time: 2 Hours Max. Marks: 40

Q.1. (A) Choose the correct option from the given options and complete the sentences: [3]
1.  The first English newspaper in India was started by
(A)  James Augustus Hickey (B)  SirJohn Marshall
(C)  Allen Hume (D)  Michel Foucault

2. Thefirst Director General of the Archaeological Survey of India was

(A)  Alexander Cunninghum (B)  William Jones

(C)  John Marshall (D)  Friedrich Max Muller
3. The first museum in India is at Kolkata.
(A)  Government Museum (B)  National Museum

(C)  Chhatrapati Shivaji Maharaj Vastusangrahalay
(D)  Indian Museum

(B) Identify the wrong pair in the following and rewrite it: [3]
1.
i. | Benjamin Tudela Spain
ii. | Marco Polo [taly
iii. | lbn Batuta India
iv. | Yuan Shwang China
2.
i. | Mallakhamb Physical Exercise game
ii. | Kabaddi Outdoor games
ii. | lce Hocky Adventurous games
iv. | Atyapatya Indoor games
3.
i. | James Augustus Hickey Bengal Gazette
ii. | Balshastri Jambhekar Darpan
iii. | Bhau Mahajan Dnyanoday
iv. | Bal Gangadhar Tilak Kesari
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Q.2. (A) Complete the following concept chart/map (any two): [4]
1. Complete the following timeline regarding Encyclopaedias related to History subject:
A.D 1932 1946
Bharatvarshiya Bharatvarshiya
Prachin Aitihasik Madhyayugin
Kosh Charitrakosh
2. Complete the following concept chart:

i

International
Sports

l

3. Complete the following concept map:

Tangible
Cultural Heritage

(B) Write short notes on (any two): [4]

1. Subaltern History

2. Voltaire
3. Louvre Museum
Q.3. Explain the following statements with reasons (any two): [4]

1. We must preserve our natural and cultural heritage.

2 Knowledge of history is essential for newspaper articles.
3. Toys can tell us about cultural history.
4

Running commentaries of cricket broadcasted by Bal. J. Pandit on Akashavani were
entertaining.
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Read the following extract and answer the questions below: [4]

Sohagaura Copper-plate: The copper-plate was found at Sohagaura (District Gorakhpur, Uttar Pradesh).
It is supposed to be from the Mauryan period. The inscription on it is in Brahmi script. The
symbols known as ‘Tree-in-railing’ and ‘Mountain’ at the beginning of the inscription also occur
on punch marked coins. Another symbol which looks like a structure erected on four pillars is
supposed to be indicative of a granary. The inscription records a royal order that the grains
stored in the granary should be distributed carefully. It is supposed to be suggestive of
precautions taken in the times of a famine.

1. Where was the Sohagaura Copper-plate found? (1)
2. In which script is Sohagaura Copper-plate? (1)
3. Explain the importance of Sohagaura Copper-plate at the source of History. (2)
Answer the following questions in detail (any two): [6]
1. How can we correlate Applied History with our present?

2 Write in detail ‘History of Akashwani’.

3. Explain the difference between outdoor and indoor games.

4 What are the professional opportunities in the Tourism and Hospitality industry available

to History students?

Choose the correct option from the given options and complete the statements: [2]
1.  The essence of democracy is
A)  Universal Adult Franchise

C

(A)

(B)  Decentralization of power
(C)  Policy of reservation of seats
(

D) Judicial decisions

2. In the pre-independence period tribe from Orissa revolted against the British
rule.
(A)  Koli
(B) Gond
(C) Bhilla
(D)  Ramoshi

State whether the following statements are true or false. Give reasons for your answers
(any two): [4]

1.  The judgements of court on various subjects have made the political process in India
more mature.

2. The State Government decides as to when and in how many stages the elections would
be held in a particular state.

3. Consumer movement came into existence.

(A) Write the following concept (any one): [2]
1. Multiparty system.

2. Water revolution.
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Do as directed (any one):
1. Complete the following flow chart:
Process of Elections:

Establishment of Constituencies

I

!

Counting of votes

2. Complete the following concept diagram:

f

| Regional Partiesin | |
Maharashtra

{

Q.9. Answer in brief (any one):

1.
2.

Which decisions of the court has resulted in protection of honour and dignity of women?
Why movements need a strong leadership?
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BOARD QUESTION PAPER: MARCH 2022
Geography

Time: 2 Hours

Max. Marks: 40

Q.l.

Q3.

(A)

(B)

Complete the following sentences by choosing the appropriate alternatives from those
given and rewirte the sentences in your answer-book:

India is located in the

hemispheres of the earth.

[4]

[4]

(A) Northern and Eastern (B) Southern and Western
(C) Northern and Western (D) Southern and Eastern
Brazil gets rainfall from south-east and north-east winds.
(A) Monsoon (B) Trade (eastern)
(C) Anti-trade (D) Cyclonic
The economies of India and Brazil are of the type.
(A) Underdeveloped (B) Developed
(C) Highly developed (D) Developing
Brazil is covered mainly by
(A) Plains (B) Highlands
(C) Mountainous region (D) Dissected hills
Match the following:
‘A, ‘B’
(1) | Field Visit (i) | Tourist place
(2) | Pico De Nebline (i1) | Goa
(3) | Most Urbanised State (iii) | Sample questionnaire
(4) | Rio de Janeiro (iv) | Himachal Pradesh
(v) | Highest peak in Brazil

Answer the following in one sentence (any four):

1.

2
3
4.
5

What is the rainshadow region in Brazil called?

Which is the popular sport of Brazil?

Areawise which is the largest state in India?

Which longitude in India is considered as Indian Standard Time?

What type of agriculture is mainly practised in India?
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Q.4 (A) Mark the following in the outline map of India supplied to you, write the names and give

index (any four): 4]
1. Sikkim
2. Lakshadweep Island
3. Chennai Port
4. Mineral oil refineries in Assam — Digboi
5. Any one southern state with high density of population
6. Tropic of Cancer.
(B) Observe the given map and answer the questions given below it (any four) : [4]

- Equatorial Forests
- Tropical Grasslands
- Swampy Lands
- Hot Deciduous Forests

Questions:
1.  Name any two forests in Brazil.
2. Name the Island shown in the map.
3. In which place do you find crocodiles?
4. Where are Tamairin found in Brazil?
5. Name the grassland to the southernmost part of Brazil.
Q.5. Give geographical reasons for the following (any two): [6]
1. Deciduous type of vegetation are found in India.

2 Eco-tourism is being developed more in Brazil.
3. Fishing plays an important role in the economy of India.
4 There are limitations on mining in the interior parts of Brazil.
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Q.6 (A) With the help of given statistical data prepare a simple bar graph and answer the

Life Expectancy

Life Expectancy

www.saiphy.com

following questions:

Percentage of Urban Population — Brazil

[6]

(1960 to 2010)
Years % of Urban Population
1960 471
1970 56.8
1980 66.0
1990 74.6
2000 81.5
2010 84.6
Questions:
1. What does the above line graph show?
2. In which decade urbanisation occurred slowly?
3. What was the percentage of increase in urbanisation during the period from 1980 to 1990?
Or
(B) Observe the following graph and answer the given questions: [6]
LIFE EXPECTANCY:
80
70 - 73 75
60 62 65
59
50 54 . .
(Life Expectancy Brazil)
40
30
20
10
0 T T T T T T 1
1960 1970 1980 1990 2000 2010 2016
Year
80
60 33 63
50 54
40 48
20 41 (Life Expectancy India)
20
10
0 T T T ) T T T
1960 1970 1980 1990 2000 2010 2016

Year
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Questions:

1. What is the average life expectancy in India in the year 2016?

2. In the year 1990, how much was an increase in life expectancy in Brazil as compared to
India?

3. How much was the average life expectancy in 1980 in India, during which year do you find

the same in Brazil?
4. Which country shows an increase in life expectancy during the period from 2010 to 2016?
5. In which country do you find high life expectancy?

6. By how much was India’s life expectancy lesser than Brazil in the year 1960?
Q.7. Answer the following questions in detail (any mwo): [8]
1. If you were a part of field visit, what preparations would you make? Prepare a questionnaire
for a field visit to a forest.
2. Compare the climate of Brazil and India.

3. Explain the characteristics of North Indian Plains.
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BOARD QUESTION PAPER: MARCH 2022

Mathematics - |

Time: 2 Hours Max. Marks: 40

Q.1. (A)

ii.

ii.

iv.

(B)

il.
ii.
iv.

Q2. (A)

Four alternative answers are given for every subquestion. Choose the correct alternative

and write its alphabet with subquestion number. 4]
Which one is the quadratic equation?
(A) 273=x2 (B) x(x+5)=2
(€ n-1=2n DO L x+2)=x
X
First four terms of an A.P. are , whose first term is —2 and common difference is —2.
(A) -2,0,2,4 B) -2,4,-8,16
<) -2,-4,-6,-8 (D) -2,-4,-8,-16

For simultaneous equations in variables x and y, D, = 49, D, = —63, D = 7, then what is the
value of y?

A) 9 ®) 7

<€ -7 D) -9

Which number cannot represent a probability?

(A) 15 (B) %

© 15% (D) 0.7

Solve the following subquestions: 4]

To draw a graph of 4x + 5y =19, find y when x = 1.

Determine whether 2 is a root of quadratic equation 2m? — 5m = 0.

Write second and third term of an A.P. whose first term is 6 and common difference is —3.
Two coins are tossed simultaneously. Write the sample space ‘S’.

Complete the following activities and rewrite it (any two): (4]
Complete the activity to find the value of the determinant.

Activity:
23 9

ICECR IR .

= ]-18
=[]
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ii.

iii.

(B)

ii.

iil.

iv.

Q3. (A)
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Complete the following activity to find the 19" term of an AP.,7,13,19,25,.......... :
Activity:

Given AP.:7,13,19,25, .........

Here firstterm a=7; tjg=?

th=a+ ([ Dd.... (formula)
to=7+(19-1)[ ]

to=7+[ ]

=[]

If one die is rolled, then to find the probability of an event to get prime number on upper face,
complete the following activity.

Activity:

One die is rolled.

‘S’ is sample space.

s=¢{__D
n(S)=6
Event A: Prime number on the upper face.

A={__|}
n(A) =3

P(A) = I:] (formula)

155
pa)-[ ]

Solve the following subquestions (any four):

To solve the following simultaneous equations by Cramer’s rule, find the value of D, and D,
3x+5y=26

x+5y=22

A box contains 5 red, 8 blue and 3 green pens. Rutuja wants to pick a pen at random. What is
the probability that the pen is blue?

Find the sum of first ‘n’ even natural numbers.

Solve the following quadratic equations by factorisation method:

X +x-20=0

Find the values of (x + y) and (x — y) of the following simultaneous equations:
49x — 57y =172

57x — 49y =252

Complete the following activity and rewrite it (any one):

One of the roots of equation kx” — 10x + 3 = 0 is 3. Complete the following activity to find the
value of k.

Activity:

One of the roots of equation

ke —10x+3=0is 3

Putting x = |:| in the above equation

k([ ]PP-10x[ ]+3=0
[ ]-30+3=0

Ok=[ ]

k=[]
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Q.5.

ii.

(B)

ii.

iii.

iv.
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A card is drawn at random from a pack of well shuffled 52 playing cards. Complete the
following activity to find the probability that the card drawn is —

Event A: The card drawn is an ace.

Event B: The card drawn is a spade.

Activity:
‘S’ is the sample space.
n(S) =52

Event A: The card drawn is an ace.

n(A) =[]
P(A) = I:I ........ (formula)

Event B: The card drawn is a spade.

n®)=[ |

-

n(s)

]

P(B) =

4

Solve the following subquestions (any fwo):

Solve the simultaneous equations by using graphical method:
x+3y=7

2x+y=-1

There is an auditorium with 27 rows of seats. There are 20 seats in the first row, 22 seats in
the second row, 24 seats in the third row and so on. Find how many total seats are there in the
auditorium?

Sum of the present ages of Manish and Savita is 31 years. Manish’s age 3 years ago was 4
times the age of Savita at that time. Find their present ages.

Solve the following quadratic equation using formula:
X+ 10x+2=0

Solve the following subquestions (any fwo):

1.

ii.

iii.

If 460 is divided by a natural number, then quotient is 2 more than nine times the divisor and
remainder is 5. Find the quotient and divisor.

If the 9™ term of an A.P. is zero, then prove that the 29" term is double the 19™ term.

The perimeter of an isosceles triangle is 24 cm. The length of its congruent sides is 13 cm less
than twice the length of its base. Find the lengths of all sides of the triangle.

Solve the following subquestions (any one):

1.

ii.

A bag contains 8 red and some Blue balls. One ball is drawn at random from the bag. If ratio
of probability of getting red ball and blue ball is 2 : 5, then find the number of blue balls.

Measures of angles of a triangle are in A.P. the measure of smallest angle is five times of
common difference. Find the measures of all angles of a triangle.
(Assume the measures of angles as a, a +d, a + 2d)
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BOARD QUESTION PAPER: MARCH 2022

Mathematics - Il

Time: 2 Hours Max. Marks: 40

Q.1. (A) For each of the following sub-questions four alternative answers are given. Choose the

correct alternative and write its alphabet: (4]
i. If AABC ~ ADEF and ZA =48°, then £D = .

(A) 48° (B) 83° (C) 49° (D) 132°
1l AP is a tangent at A drawn to the circle with center O from an external point P. OP = 12 cm

and ZOPA = 30°, then the radius of a circle is .

(A) 12cm (B) 6~3cm (C) 6cm (D) 1243 cm

iii.  Seg AB is parallel to X-axis and co-ordinates of the point A are (1, 3), then the co-ordinates
of the point B can be

A) 3.1 B) &1 <€ 6,0 D) (5,3)
iv.  The value of 2tan 45° — 2sin 30° is .
3
(8) 2 ®) 1 © 3 ® <
(B) Solve the following sub-questions: (4]

i. In A ABC, ZABC = 90°, ZBAC = ZBCA = 45°.
If AC = 9+/2 , then find the value of AB.

B C
il. Chord AB and chord CD of a circle with centre O are congruent. If m(arc AB) =120°, then
find the m(arc CD).

iii.  Find the Y-co-ordinate of the centroid of a triangle whose vertices are (4, —-3), (7, 5) and
(-2, 1).

iv.  If sin® = cos0, then what will be the measure of angle 0 ?

Q.2. (A) Complete the following activities and rewrite it (any two): D [4]
1. In the above figure, seg AC and seg BD intersect each

other in point P. If £=%, then complete the

CP A
following activity to prove AABP ~ ACDP.

Activity: In AAPB and ACDP P

AP BP
—=—..... C
CP DP

ZAPB=| ... vertically opposite angles
I:I ~ACDP....... I:I test of similarity.
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iil.

®)
1.

il.

iil.

1v.

Q3. (A)
1.
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In the above figure, [JABCD is a rectangle. If D A
AB = 5, AC = 13, then complete the following
activity to find BC.
Activity:

AABC is |:| triangle.

By Pythagoras theorem
AB’+BC’=AC’

25+BC2=|:| BC2=|:| c B
BC=|:|

Complete the following activity to prove: cotd + tanO = cosec x secO
Activity:
L.H.S. = cotf + tanf

:cos6+|_| _ |_|+sin26

sinO cosO sin0 x cos0
1 1 1
s - = X
sinf x cosO I:I sin® cosO

=|:| x sec
L.H.S.=R.H.S.

Solve the following sub-questions (any four): [8]
If AABC ~ APQR, AB : PQ =4 : 5 and A(APQR) = 125 cm?, then find A(AABC).

A
B X
C

In the above figure, m(arc DXE) = 105°, m(arc AYC) = 47°, then find the measure of Z/DBE.

Draw a circle of radius 3.2 cm and centre ‘O’. Take any point P on it. Draw tangent to the
circle through point P using the centre of the circle.

If sin@ = % , then find the value of cos 0 using trigonometric identity.

In AABC, AB =9 cm, BC = 40 cm, AC = 41 cm. State whether AABC is a right-angled
triangle or not? Write reason.

Complete the following activities and rewrite it (any one): [3]

R Q
In the above figure, chord PQ and chord RS intersect each other at point T. If ZSTQ = 58° and
/PSR =24°, then complete the following activity to verify: ZSTQ = % [m(arc PR) + m(arc SQ)]

Activity:
In APTS,
ZSPQ = 4ZSTQ - |:| - Exterior angle theorem

ZSPQ = 34°

m(arc QS) =2 x |:| =68 L. |:|

Similarly m(arc PR) = 2/PSR = I:I

% [m(arc QS) + m(arc PR)] = % X |:| =58° ... )

www.saiphy.com



Q..

Q.5.
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but ZSTQ=58 .. (II) given
% [m(arc PR) + m(arc QS)]=|Z...| ... from (I) and (II)

il. Complete the following activity to find the co-ordinates of point P which divides seg AB in
the ratio 3 : 1 where A(4, —3) and B(8, 5).

Activity: /: ‘P ]3
(43 _3) (x’ y) (87 5)

By section formula,

_ myx, +nx,

[ ] * Y m+n

_ 3x8+1x4 _3><5+1><(—3)
341 7 341

D+4 :EI—
FD = |:|

(B) Solve the following sub-questions (any tmwo): [6]
i. In AABC, seg XY || side AC. If 2AX = 3BX and XY =09,
then find the value of AC.
B Y C
ii.  Prove that, “Opposite angles of cyclic quadrilateral are supplementary”.
iii.  AABC ~ APQR. In AABC, AB=54cm, BC=4.2cm, AC=6.0cm, AB : PQ=3:2, then
construct AABC and APQR
iv.  Show that: (A + PEN_ = sin A x cos A.

(1 + tan? A)2 (1 + cot? A)2

Solve the following sub-questions (any fwo): [8]
i. LABCD is a parallelogram. Point P is the midpoint of D
side CD. Seg BP intersects diagonal AC at point X,
then prove that: P
3AX =2AC
i X
B B C
A Y
D

In the above figure, seg AB and seg AD are tangent segments drawn to a circle with centre C

from exterior point A, then prove that: ZA =% [m(arc BYD) — m(arc BXD)]

iii.  Find the co-ordinates of centroid of a triangle if points D(-7, 6), E(8, 5) and F(2,-2) are the
mid-points of the sides of that triangle.

Solve the following sub-questions (any one): [3]
1. If a and b are natural numbers and a > b. If (a® + b%), (a® — b®) and 2ab are the sides of the
triangle, then prove that the triangle is right angled.
Find out two Pythagorean triplets by taking suitable values of a and b.

il. Construct two concentric circles with centre O with radii 3 cm and 5 cm. Construct tangent to
a smaller circle from any point A on the larger circle. Measure and write the length of tangent
segment. Calculate the length of tangent segment using Pythagoras theorem.
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